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天秤（バランスアーム）
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d [mm] 
 

I [mm] 

(a)  12.5 48.0 

(b)  12.5 48.0 

(c) NACA0020  12.5 48.0 
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(3) 1gmf =9.81 10-3 N
 

(4) 4
6  

 2  

 
 

 3 1atm (2) 

T Úw g/cm3
T Úw g/cm3
T Úw g/cm3
T Úw g/cm3
T Úw g/cm3

0 0.99984 7 0.99990 14 0.99924 21 0.99799 28 0.99623 

1 0.99990 8 0.99985 15 0.99910 22 0.99777 29 0.99594 

2 0.99994 9 0.99978 16 0.99894 23 0.99754 30 0.99565 

3 0.99996 10 0.99970 17 0.99877 24 0.99730 31 0.99534 

4 0.99997 11 0.99961 18 0.99860 25 0.99704 32 0.99503 

5 0.99996 12 0.99949 19 0.99841 26 0.99678 33 0.99470 

6 0.99994 13 0.99938 20 0.99820 27 0.99651 34 0.99437 

 

hP hp0 P - p0 1/2 ÚU2 U 
 
DI 

[mm] [mm] [Pa] [Pa] [m/s] [gmf] [gmf] [N] 

117 94    33   

134 98    42.5   

 



3  

4 2  
4  

(1) Ál Ál

' 30   

p0 − p = ρwgΔl sin θ 17  

(2) 7 0
1.0  

(3) 8  
(4) 

4  
(5) Cp cos Ò 5 Cpcos 

Ò Ò 10
 

4

 

Ò lp Ál Álsin ' p  p0
Cp
Cp
Cpcos Ò 
Cpcos Ò

[ °] [mm] [mm] [mm] [Pa]  

0      1.000  1.000 

5      0.970  0.966 

10      0.879  0.866 

15      0.732  0.707 

20      0.532  0.500 
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実験結果

理想流体
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